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Skillswise N2/L1.4

Place values and place holders - answers

Write each of these decimal numbers using digits. (The correct answers are in bold.)
a. Three and four tenths = 3.4

b. Sixteen and two hundredths = 16.02
c. Twenty-five hundredths = 0.25
d. One and five thousandths = 1.005

e. Four hundred and five and three tenths = 405.3

f. Twenty-six thousandths = 0.026

Tick True or False for each of these statements:

True False

v/ a. Four hundredths = 0.04

v/ b. Five and six tenths = 50.6

v/ c. 14.07 = fourteen and seven thousandths

v/ d. Two point one six = two and six hundredths
v e. 59.008 = fifty-nine and eight thousandths
v/ f. 9.019 = nine and nineteen thousandths
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